
Math 392 Quiz 6B

Ma「ch 6, 2019

N。m。: ANSいJ包2_ S
Instructions: No caIcuIators! Answer呈出PrObiems in the space provided! Do your rough work on scrap paper,

1. Definethefoilowing:

(a) ! f(ちy) dy =

(b)申子=

(c) !
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(where C is a smooth curve parametrized bY it) =< x(t),y(t) >. No shorthand, fiesh out fuii definition.〉

2. Whatdoes it meanto sav ′′F isconservative’’?

3. Statetheequation in Green’sTheorem:

圭叫生よ。へもC山で!詰直写
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4. Statetheequation in thefundamental theoremfor iine integraIs:

5. Letfi < P面) O(の> bedefnd onanopen′S叫COnneCteddomaIn D・Suppose Pand O号雷=退

continuousfi「stpa「tiaide「ivativesonD・Whatequation wouIdyouuseto checkifjisconservative? 2)リ　オx

6. Let D bethetriangIe in the planewith verticesat (0,0〉, (2,0), and (0,1〉.しet C bethe positiveIyoriented boundaryofD.

Seトup integrais to c

(a〉　Line integrai(s):

a sum of integraIs may be necessarv):
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(b) DoubIe integ「ai(s):


